WS Limiting Reactant  #1



    Name ____________________________

For each of the following, circle the name of the limiting reactant.

1. If 3.00 grams of potassium hydroxide is reacted with 2.20 grams of hydrochloric acid, how many
   grams of water will be produced?

2. When 25.0 grams of bismuth(III)nitrate reacts with 8.0 grams of hydrosulfuric acid, how many
    grams of bismuth(III)sulfide will be produced?

3. How many grams of Fe3O4 will be produced when 55.8 grams of iron and 18.0 grams of water
    reacts according to the following equation?             3 Fe   +   4 H2O  →  Fe3O4   +  4 H2
4. How many grams of iodine would be produced when 4.76 grams of chlorine reacts with 27.3 grams
    of aluminum iodide?

5. How many grams of water is produced from 50.0 grams of oxygen and 8.0 grams of hydrogen?
